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# The relationship between the blood and breath alcohol concentrations in equilibrium is
well-defined and the value of the actual concentration ratio is known. This is the
blood/breath ratio and, although a small variation exists in its value from person to
person, the value of 2300:1 is now commonly accepted as being the most appropriate
ratio of arterial blood to expired deep lung breath for forensic application. Therefore, to
convert breath alcohol readings in micrograms/100ml to blood alcohol in
milligrams/100ml, simply multiply by 2.3.
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Recording curve of flowrate during a forceful exhalation of human breath
flow rate (Limin) through a breath alcohol analyzer
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